[ /\47/j3— ]
HOfitfr & H

)I]]],»r

AHMANE: ¢RRUEHRE
S HIREE
R IEE
\ &2 &5

& INATh— NZAT

mmay: N1040

\ FTXILINRBKIN=1LL
TEL : 0857(23)2731 FAX : 0857(22)9692

URL : http://www.sunrise-ic.jp/

SUNRINE R




202103-1kR

LTS |

. mIyvst

1. R &
n E2 INATh— NIAT
B AR N630. N835. N1040. N1250. N1660, N2080. N2293.
NW2030. NW2535, NW3030. NW3040. NW4050, NW5060. NW6080
EIoL T ET@ay)—k ([E#E58 : 18N/mm~ 36N/mi)
28 RDER -8
JCAATD N3E AIAITAH K
JCAAD »FEX * JCAA- - (—#) BAREH BT 7o H—HE
BAEITRAA |
YRIEFATAHE
REI—2FTA A ‘
TAB A
2AHx |
YRARERIT A ST
RY—THRAHK |
SBIETUN— =
: a—>F vk ‘
— i AR
F—/N\—RJLEK ‘
wt A
‘ FILa—vk
FAFHLEER |

H1.ERBHERT7 v H—D 2R

.EMAA—=D

X2 .8 G D5 E
* A XIZKYNBIZERLZYFET,

4. B iRk
Ak, 3~

e

RLEUVEXEYF N a—>
RLERSE

3. R @R - S mERE

‘ TrTTXILRIKIVSIL
k TEL: 0857(23)2731 FAX : 0857(22)9692

SUNEISE URL : http://www.sunrise-ic.jp/



202103-1kR

5. Mtk

Foh—FKED L (mm)
o TETA TALILIE
s
2 wE nt | miorE | 28 | neEs | Fune | mags | mags | BEREC
N630 M6 x1.0 10.5 30 1 11 33 30 16.5
o)) N835 M8 x 1.25 12 35 13 12.5 38 35 242
o)) N1040 M10x 1.5 14 40 16 14.5 45 40 39.9
o)) N1250 M12 x1.75 17.5 50 22 18 56 50 71.0
o)) N1660 M16 x 2.0 215 60 25 22 67 60 134.0
N2080 M20 x 2.5 255 80 35 26 90 80 225.0
N2293 M22 x 2.5 28.5 93 41 29 103 93 331.0
NW2030 W1/4-20 10.5 30 1 11 33 30 16.1
NW2535 W5/16-18 12 35 13 12.5 38 35 24.6
NW3030 W3/8-16 12 30 1 12.5 33 30 20.9
NW3040 W3/8-16 14 40 16 14.5 45 40 39.9
NW4050 W1/2-12 17.5 50 22 18 56 50 72.0
NW5060 W5/8-11 215 60 25 22 67 60 135.0
NW6080 W3/4-10 25.5 80 36 26 90 80 228.0

* @) OX—IDHLIMGIE, —AFZEAN BEABELHLRIT7Uh—HRICEIUGRBEMGEHRALLGYES,

= AL E D H#k
TR REANEDOIESE RENERES
TUh—HE ESENDo=(JIS HE610) (FEE:5mmblt)
Ep—Fe/Zn5/CM2
o A0 A— R

N  T7TTX LikIV=EiL
TEL:0857(23)2731 FAX: 0857(22)9692

SURRISE = URL : http://www.sunrise-ic.jp/



202103-1h%

HMHBREE

1R85
e INTh— N34T
si@4pz | N630. N835. N1040. N1250, N1660, N2080. N2293.
NW2030. NW2535. NW3030. NW3040, NW4050. NW5060. NW6080

[
[0

2.7 Nh—KE, O—>

A& AR FM (JIS G3507)
(SWCH6A., SWCH8A. SWCH10A, SWCH12A)
B R 44 (JIS G3505)
HRigaE (SWRM6., SWRM8, SWRM10, SWRM12)
miE4
— A% #8:& A SR+ (JISG3101)
(SS330. SS400. SS490)
X(x LEeFEest
E=T5%5) C Si Mn P S Al
K 0.08 0.10 0.30 0.030 0.035 0.02
(SWRCH10A) | ~0.13 LIF ~0.60 LU LIF Kk
* FEEDIEERR D&, JIS G3507I2KAED T, HiED—HIELTDREHELYET,
* FALIM DIEER DL LR RBICESHBEWNMEELHYET,
{EZER R C Mn P S
R 0.10 0.60 0040 | 0040
(SWRM8) YT UTF UTF LT
* FEEDILER S E. JIS G3505I12KAHED T, HED—HIELTHDREH ELYET,
* FARM DIEER D X LR REBICESBEWMEELHYET,
=3T3 C Mn P S
ki _ _ 0050 | 0.050
(SS400) LT LT
* FEEDILERS . JIS G3101IZKAED T, MED—HIELTHDREHELYET,

* M DILFERD T LR RIBICROBWNEEAHYET .

N  TZ7FITX LkIV=EL

TEL:0857(23)2731 FAX: 0857(22)9692

SURRISE URL : http://www.sunrise -ic.jp/




T TRV NRBR R AR =

INAT I — T AT BT
N1040
[ 2021/3/31 |
1. #ABH 20184E10H 3 H Y51 XTHEK
2. RBrE WU TARTEHRASE
3. REBROMEE  HHSIHERE (JCAA [(—fD)BARBEEL L L7 —WHa] B 5EICHEL)
4, AMLE
4-1. 7o I—R)Lk BN :mm 4-2. a7 —h _
24 EE | a5 | nr | mas | mags W O .
F3] .
N1040 14.0 40.0 M10 14.5 40.0 AF— )L Sk 18 N/mm’
5. RBRER
5-1. #iER
Rk No. 1 2 3 4 5
(kN) 19.50 20.04 22.76 19.17 23.36
NG E7 i
(kgh (1990) (2045) (2322) (1956) (2384)
B R ERFZEAL (mm) 2.37 4.66 3.66 2.95 2.05
FrEgmiEe (=) 4 4 4 4 4
N —DRES 3.0 BF
T — a7 —h a7 —h 27—k 27—k a2 7)—h
T R T R T R a— R a— R
5-2. FiEENIFR 5-3. far BN AhAR
i 25N £ (um) THEKN)
(kN) No.1 No.2 No.3 No.4 No.5 25.0
2.00 0.17 0.27 0.19 0.22 0.19 .
4.00 0.28 0.43 0.29 0.90 0.28 )/
6.00 0.33 0.47 0.36 1.38 0.38 200 J RN
8.00 0.43 0.51 0.41 1.53 0.44 : 1 \
10.00 0.47 0.60 0.46 1.75 0.48 ! .
1200 052 0.71 0.54 1.80 0.53 [/ Y -
14.00 0.61 0.85 0.69 1.90 0.62 15.0 \\ v
16.00 0.91 1.15 0.91 1.95 0.73 '\ ! %
18.00 1.30 1.59 1.30 2.32 0.92 | \ \
20.00 4.57 1.78 1.12 10.0 \
. 1
22.00 2.69 1.40 I \
: No.1
No.2
5.0 No3 |
— — - No.4
MAX | 2.37 466 3.66 2.95 2.05 oS
(19.50kN) [(20.04kN)|(22.76kN)|(19.17kN)|(23.36kN) 0.0
0 5 10 15
TR RGIRFE: 20. 97kN (2139.4kgf) 5437 Be(mm)
6. FRBRILE
WE V& ENERPAC RCH202
a8 HWER T ENERPAC P39
f gt FIIAR AT — Dy S
'J:LI o—R/L LEX-50kN(ZE#%50kN)
BN SE B
MEYH e V=7 = —(FEE GS1000(ZE#%100mm)
AT PRSPy S — DG2310
. i (N SR ES
o—RtL | I fir s S i
ATYATT = AEY AATT— LR8431
H & R

© o ¢ o
o TLoh— ¢



40.0

$14.0

xxxxxx
Pede el

%%
/ O

16.0

/410><P1.5

A
(RF—IL)

a—>

(RF—IL)

B

2021

/3/24 |

Y1 XTERR

BEXHENHoET 04— MoE

) INAAToh—Fy b3A47T

& N1040

e .

% 2021434238 7&-N1040

R & 8 (%

E 2/1 2 P
HUTAXTEMRAEH




